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= = R i35 D\ - 7 AN o = = AN - = T AN = | =
i 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi%#BZ % — -~ — —|3m%EEZD - ~ — - -
ZnLs 1.00 | 0.00 ~ 467 58.22 | #h kst | 000 ~ 0.00 | 1.62 8.19 ZnLs 1.00 ] 500 ~ 5.00 5822 | #nll4t | 5,00 ~ 500 | 1.62 8.19
9 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi%#B 2% — -~ — —|3mZEEZD - ~ — - -
ZnLs 1.00| 0.00 ~ 6.85 86.72 | #nList | 000 ~ 0.00 | 1.76 8.91 ZnLs 1.00 ] 500 ~ 8.40 86.72 | #n 4t | 5,00 ~ 840 | 1.76 8.91
3 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — — | 100kN/mi%#BZ % — -~ — —|3mZEEZD - ~ — - -
ZnLs 1.00 | 0.00 ~ 4.69 5843 | #nList | 000 ~ 469 1.83 9.25 ZnLs 1.00 ] 500 ~ 5.00 5843 | #nli4t | 5.00 ~ 500 | 1.83 9.25
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
ZFhLsn ~ ZhLs ~ ZFh s ~ Zhs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
ZFh s ~ ZhLs ~ ZFh s ~ Zhs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ Zhs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ Zhs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ ZhLs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zh s ~ Zh LS ~ Zh s ~ Zh LS ~




